<< 89 }‘F‘[:Elgﬁl =6 Eﬁ >>
- HE
1. F% ELVBLE| = FPY ABC U= & (= fg' lﬁ\@ﬁ)’ <89 Ejrf' 1>
) ¢ FBEE AB VR JSER AH I REW
(1) ccos4 sinC (2 ccosA cosC  (3) ccosAd tanC  (4) ccosd secC  (5) ccosA cscC

i U CDHE PRI . 2C=0 A
AAHE []1> sinf = 4 — AH = AE = AE csc0
AH sin @ c M\E
<~ AABE Hl ) cosAzﬂzﬁzc-cosA ‘
¢ N C
5] AH = AE|cscO|=c-cos A-|cscC| » B D
EEG) -

2. SUE B AR EJFII O f@?ﬁﬂﬂj}ﬁ@ﬁhiﬁ?}[ﬁj P ST R [gy/qga[ﬁj/q
AR B! 135@?*6 R VR AR ST P R AR
= IR FE&'?TJ‘JEE%%P%[FIJ{EL’? S VR 2 0 7 e BN - VPRI R R R Y R
R VR A TR PP A 2 <89 g1

(D) FEEI- G @ SRS I (3) FETE QI

@) FEESMGE (5) FE T -
e P (IR 2 7] el 1R 77D /ﬁ \
= PP 3600—1800 e 200 L5 g0 \ NG

—

= =45 7] 248 180°—-51.4°=128.6° ™

T R R s PR S Sl e ] 360° 0 ] - 360 S 280

IHJ 2.8 Flg o FIETS —:14[§[ = Pﬁﬂjﬁ'h ST Gl e

Q)



3. RITE A8 fiE Tt > SUNVHEY ;ﬁa :FJ » AR bl B TS IR 70 53 0 FEVEEIER S JF -
fe e R AR T J?—l %F"fﬁ  HIRGEEE S0 55
F A 7057 lIRGES 100 5 {ag PIHARYEREL S 00 o <89 Brf'1>
AT J IJP”B*E‘*k gl Fif&

P . 1 _ 1 _ _ 1
Cn BRI 00 0 0 o, PORVESE RS0 S = 23 (x, — %) == 5x) =% o i x=—3x, )
ni=l ni=l n i=l

(A)S;<S§S-5 B)S-5<85<§ (O)§5=8S D)S<S<5+5 (E)S+5<S,
E}%: (1) F5 Jr:@r— (48x70—-50— 14(1);) 25+80+70) 48:870

=70 o
48
(2) BT HAI=D x7 =48x87 +48x 707 ©

48
et A=) x? =48x S +48%x70°

p

T A F = (48x 87 +48%70%) 507 —100° + 807 + 70 = (48x S* +48x707)~1200 »

S A8 S +48x70% = (48x S* +48x70°)—1200

= 48(5," -=85*)=-1200= S,> -S> =-25= 5" +25=§"

] (S=S) =(S=S)S-S)<(S=S)S+S)=8>-S5"=25
=85-5<5=8-5<8, &' §, <8 o

ez -

. 1< _ 1 n _ n _ n _
EEC 52ZZZ(xl.—x)z:;{(inz)—n-xz}:> n-S2:(Z:xl.z)—n-xz:>Z:xl.2:n-52+n-x2 o
i=1 i=1 i=1 i=1

4 FIVEH (RS SIR STHIRRBRER 10 20 3040 50 60 BV LRIV
SRR SR | IR SR Y NS PR EE [ R VA (DY S 2 B
E\[J}Hly!f 2 B~ 4 5F 65!#[!“'.1%’??% D)o FRES TN - TVAUIEV o

Fﬁﬁfw »%Erwﬁ %FIIF‘ﬁWSWﬁ'J&k}i’”L‘?

0 = @ = 6) o O EC R <89 gf! 1>
B LB Uwqa‘aﬁa B ;rmx z ﬁ‘z 3:456>
© By 2 F 3 S Y M I HE oo

2 12
® BT I F 2 4s SHE T M AT Soxiog
® Y- S4B B35 6 ST 3 BRI 6 :éX§ é :
@ H7- Y6 B # 4 5 HE I 4B :%X%:é :
- r;j\;ﬁg} :L l l.,.i_ F—grl_(l)
1299 12 36

-0



—_ £ Jge I"']‘

Ty e
S. - AREUI B (0)) A RLOBERL 1> JIH PR fERL <8O L=
A0 B)1 (©)2 D)3 (E)4

0000 oo o 1 o 0 o
s |00 0 Varggg ;|0 00 Olpygy o |0 I 0 Ol s

000 0 0000 0000

00 0 0 0000 0 0 0 0

M o o o oo o

0 0 Oy OO0 Oy

o o [1] o o 0o ] o

0 0 0 0 0 0 o [i

FZ(A)B)(C)(D)(E)

P s SHIRSTIBE BT T - SEERRT G 0 U sk (B T

6. F%a t- JERUE o B 2+ 7 —x +a=0 UL SRR <89 Erf' >
(1) = WERL @) FRgi R WAL 3) F- W EEUTIR fAR
(4) F= WA (5) EF - [
Bt ) y=f)=x+x"—x [ x3+x2—x+a:O:{iz;(zx):x3+x2_x )
= f')=3x"+2x-1=(x+1)GBx-1)>
Y Q= LD =1 W
(D322 WERV IR e
(2) ?J[KJI[_{F‘[TEU\:D~ (A —f5L o
(3) T~ AT T
(4) 1272 R 1Y
(5) [t~ [t -

FEQG)G) -




= R
7 %?[_LE/I [,TT'EKT: «—L"’_‘LJ%E::C x2 +x4¢=0 FIUFKJTELCI » b ﬁﬂj\ﬂgﬁgﬁr , <89 E},’Z—FI >

iz = }aiwﬁfﬁﬂlf L o a6t Vi

1 1
a+b:—+Z:—1 aibh=—1
e © I ‘ e A
11 ab=1
a-b=—-—=c
a b

E(Sf’fl’?ﬁ @ +b=(a+b) -2ab=(-1)-2=-1
o =) B WIRR R 3 B Ry 2 9 196

o

PR B R E R R
153 n B WIRE N e 2 5l TEJ#&%@@&HE«& fo— 2 > fln ]
(Ll’%p 10g102 = 0.3010 » log;o3 = 0.4771 > logol1 = 1.0414) <89 Lt 1>
B 1 5 B HIRIERTY & SVRTYE Y 0.99 -
0.9 <05 = n-log%< log%
= n(2log3 +logll-2)<—-1log?2

= 1 (-0.0044)<-03010 = n>3gioz68.4 T 69 -

9. @ ABCD ¥~ Mt iy AB=AC=4D=1 » ZDAB=-DAC=-BAC =30° <89 Hrf' 1>
TABCD FUf A A
—_ . J3
i : BC = 4B +AC —2-AB-ACcos30° = F-2:11===2-43
< ABCD £y [~= £ »
B D
f .BC’ _ﬁ(z—ﬁ)=2€_3 .
C

Frsrﬂ-’r“jsp (R £

10. I%’f(p 0) A _2+y_2_1 F[LJEiEI F— L%P” ()<p<_ = gﬁ(a b)t ﬁE?[EH__FElE{:"E(p 0)
ST VR a=2(0] p PYEERT) <89 Brf!I>

Ejg %Q(x ) ERAfEEd - @F’ = A(p, 0) 0

1
:>AQ:\/()c—p)2+(y—0)2 :\/x2—2px+p2+l—zx2 :\/%x2—2px+p +1 >
X

A ‘
_\/2()6—517) 3P +1 KwQ\




11. ngg[[@#l—p(lazaz)ﬂ[j%jﬁfy[ S Xy +27=1 LS EE J&ﬁ’ﬂ s ffl TR
TR PR <89 Het'1>
et P(1, 2, 2)5% T*plx+y+z =1 Jt— gﬁ

- JP[ lext2ey+2ez=1 >

Al x+2p+2z=1 -

B3 Pz (SRS - x2+y2+z2+dx+ey+fz+g=0 RS FPE ORI [

IP=E R T [ T A L’E'm-x+yooy+z-z+ (x0+x)+ (y0+y)+f(z +z)+g=0 o

- F R

1 AL y=xrax thrte FUIIFJAE > S p=0 HERR <89 He'l>
T = IRe SR W B R BT 3 Tj‘ﬁ'JEV a~b-~cpujf - " y=x*+ax*+bx+c
B4 ) tadthrie. = [1(0=3x2axth /

LA W‘r}ﬂ%ﬁ = A0)=0 =" f'(0)=0 = b=c=0 - o > X

= y=x>+ax’ =2 y=0 L H°(0, 0)=(-a, O)Eﬂ%ﬁ’ = a<0 o / \/

= | 0 f(dx =] 0 (x* +ax?)dx =3

4 3 | 4 4 4
=+ =(“7+ ;Z)z—f—zz—3:>a2=6:>a=—\/g (ra<0) -

0

2. Frlcfea E %#“A(4 4) > B(2,1) > ¥ AB =iy =ax+b 1T -

REE ) o SRR b LR K ek, D)EER A T <89 Lt >
i @,»Eky—ax+b:>y ax—b=0 b
Hl (4a—4+b)2a—1+5b)<0 \(0, N

(4a+b—-4)2a+b-1)<0
{4a+b—420 \ {4a+b—4£0

2a+b—-1<0 fl 2a+b—-1>0 © D
N\ 0)

/

1
(590)

2a+b—1=0
4a+H—4=0




